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P W ‘:3\ Instructions

1. Attempt all questions
2. Figures to the right indicate full marks.

Q.11) Explain the following. (ANY FIVE)

1.
ii.
iii.
iv.
\2
vi.
vii.
viii.

Individualism

Unearned Income

Central Planning

Social Interest

Trusteeship

Transnational Corporations
Globalisation

Ecological Sustaimability

Q.P. Code: 31937

IT) State whether following statements are TRUE or FALSE. Justify your answer. (ANY FIVE)

a.
b. Socialism is an economic system in which collective wealth is used to provide public services.
¢. The public sector in India has diversified its activities to cover a wide spectrum of industries.

The United States is a pure capitalist country.

d. In a mixed economy, government does not regulate the private sector.

€

- f.

. Gandhiji believed in dignity of labour.
Multinational Corporations benefit primarily their shareholders.

g. Globalisation reduces international poverty.
h. According to Marx, polarization of classes is inevitable.

Q2

Answer ANY TWO of the following:

a. Critically evaluate the strengths and weaknesses of American Capitalism.
b. Discuss the policies of Glasnost and Perestroika as reforms introduced by Mikhail

C.

Gorbachev in former Soviet Union.
Explain the Convergence theory of economic systems.

Q.3. Answer ANY TWO of the following:

a.

b.

C.

Analyse the changing role of the public sector in India.
Discuss Gandhian views on economic systems.
Explain the transition in China since 1978.

Q.4. Answer ANY TWO of the following;

a. Discuss the link between Transnational Corporations and Globalisation.

b.
€.

Analyse the impact of globalization on economic growth.
Write a note on Economic Integration.

Q.5. Answer ANY TWO of the following:

a. What are the challenges of capitalist globalisation?
b. Discuss the issues related to environment and sustainable development
c. Write a note on class polarization crisis.
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Please check whether you have got the right question paper.
O 2. |E Wy e ek,
R. IEehEIeT 37 QUi Tur gwifarara.
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